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5940 | F#BTH <0002 [< 0.0002f < 0.0002 [< 0.0004[ < 0.01 [<0.004|<0.002]| <0.002| <0.1 |<0.0008| <0.001|<0.001|<0.001
5 | 5941 | m#p <0002 < 0.0002] < 0.0002 [< 0.0004[ <0.01 [<0.004|<0.002]|<0002| <0.1 |<0.0006<0001| 0005 |<0.001
ﬁ 5041 | m#BH <0002 <001 | 0043 [ 0041 [<o0.002 0005 | 0.027
F | 5941 | m#p <0002 | 00002 [ < 0.0002 [< 0.0004f <0.01 [<0.004]<0.002]|<0002| <0.1 |<0.0006<0001| 0002 |<0.001
g 6040 | F#BTH <0002 [< 0.0002f < 0.0002 [< 0.0004[ < 0.01 [<0.004]<0.002]<0.002| <0.1 |<0.0008| <0.001|<0.001|<0.001
# | 6040 | W <0002 [< 0.0002f < 0.0002 [< 0.0004 < 0.01 [<0.004|<0.002]<0.002| <0.1 |<0.0006| <0.001|<0.001|<0.001
X
5 | 6241 | W <0002 [< 0.0002f < 0.0002 [< 0.0004[ < 0.01 [<0.004|<0.002|<0.002| <0.1 |<0.0008| <0.001|<0.001|<0.001
& | 6241 | mam <0002 [< 0.0002f < 0.0002 [< 0.0004[ <0.01 [<0.004|<0.002]|<0.002| <0.1 |<0.0006 0001 |<0.001<0.001
6241 | W#BH <0002 < 0.0002f < 0.0002 [< 0.0004 < 0.01 [<0.004]<0.002]|<0002| <0.1 |<0.0008| <0001 <0001 <0001
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